11/8" (149 5/8"x110 1/4")

7
\

1

[TTTTTTT]

[TTTTTTTIT

[TTTTTTTI1

[JITTTTT]

LA LA A

114,1 ft?

1571/2"

e

190422

118 1/8"



Anthonyh
Rectangle


Foundation

11/8" (149 5/8"x110 1/4")

190422

Impregnated foundation beams

Mark \ Type \ Profile \Count\ Leng
IFB IFB 6 149
40X70 3/16"



Anthonyh
Rectangle


Floor Plan
@ Baseboard J
BB N\
| A |
FB —— = -

11/8" (149 5/8"x110 1/4")

A\

%/16"

Floor Schedule
I\/\ark\ Type \ Profile \Count\Length
FB FB 18x110 35 107
7/8"
S
BB1 |BB 2 149
20X40 D 5/8"
BB2 BB 2 1101/4"
20X40

190422

3 15/16”L1 1/8"305/16" 71/2"

114,1 ft

108 1/16"
118 1/8

6" 11/¢ /2! 56 11/16" 7V1/2; 305/16" ) 1&!8'/3 15/16"
AH# L w4 1 ki
) 79/16 147 3/8" 79/16/ |
] 7
* 153 9/16 L

N



Anthonyh
Rectangle


Wall1

11/8" (149 5/8"x110 1/4")

Wall 1

Cut
Mark | Profile |Count| Lengt
1BL1 28x57 |2 50 3/8
1LG1 |28x114 18 71/2"
1LG2 |28x114 18 125/8'
1LG 3 *|28x114 |1 331/8"
1LG 4 *28x114 1 661/4
LG5 |28x114 |14 50 3/8
1LG 6 *|28x114 |1 971/2'
1LG 7 *128x114 1 132 9/1
1LG 8 *28x114 1 157 1/2

/LINLGS
/\( 1G4 \K/\
1LG 6
M 1LG7 U\
1LG8
LG 1 LG 1
LG 1 LG 1
LG 1 LG 1
LG 1 LG 1
LG 1 LG 1
LG 1 LG 1
LG 1 LG 1
LG 1 LG 1
LG 1 LG 1
1LG 5 1LG 5
1LG 5 1LG 5
1LG 5 1LG 5
1LG 5 1LG 5
1LG 5 1LG 5
1LG 5 1LG 5
1LG 5 1LG 5
1BL1 1Bl
125/8"  305M6" 71/2" 56 11/16" 71/2"  305/16"  125/8"
l % vy V. i l
7 7 T T 7 7

190422

*Gable-delivered premounte

Log Profile Wall 1

Profile \ Profile
28Xx57
28x114



Anthonyh
Rectangle


11/8" (149 5/8"x110 1/4")

Wall 2

Wall 2

Cut
Mark | Profile |Count| Lengt
2BL1  |28x114 |1 1571/2
2LG1 *|28x114 |1 331/8"
2LG 2 *|28x114 |1 661/4'
2LG 3 *128x114 |1 971/2"
2LG 4 *128x114 |1 132 9/1
2LG 5 *|28x114 |1 1571/2
2lG 6 |28x114 |16 1571/2

I

4
190422

*Gable-delivered premountec

Log Profile Wall 2

Profile \ Profile
28Xx57
28x114



Anthonyh
Rectangle


11/8" (1 /8"X110 1/4") wall
49 5 4
Wall A Mark | Profile | Count| Lengt
ALG1 |28x114 |15 118 1/8"
ALG 2 |28x114 |1 126"
ATL1 |28x120 1 137 13/1
C - ATL1 -
N E ALG 2
i ALG1
ALGh
ALGh
ALGh
ALG1 Log Profile Wall A
ALGh
ALG Profile \ Profile
ALGh
ALGh
NEE 28x114 =
ALGh
ALG1
ALGh
ALG 1 e
ALGT 28X120 -
77/8" /77/8“ 118 1/8" 315/16"
v v v V
A 7
av
190422



Anthonyh
Rectangle


Wall B

BTL1

BLG 2

a
o R

BLG1

BLG1

BLG1

BLG1

BLG1

BLG1

BLG1

BLG1

BLG1

BLG1

BLG1

BLG1

BLG1

BLG1

BLG1

77/8" 77/8"
Y/ / Y/

181/8"

A A

190422

Wall B

Cut

Mark | Profile |Count| Lengt

BLG1 [28x114 |15 118 1/8"
BLG 2 [28x114 |1 126"

BTL1 [28x120 |1 137 13/1
Log Profile Wall B

Profile \ Profile
28x114 o
av
28x120 "
av



Anthonyh
Rectangle


Roof

\ Profile \Count\Lengt

Type

AAark\

137
13/16'

137

13/16'

87 3/¢

1

4

66

40X120

40X120

18X110

RFR |Ridge

RFB |Beam

RB

Roof 1

190422



Anthonyh
Rectangle


[LTTTTTTIA

TITTTITTT\

[TTTTTTTIT

[TTTTTTTIA

ITITTIIT

190422

RB
RR1

RR2

RF

@ Roof Reinforcement

EE —

Roofing
sheet ——

RF —

RR1

Fascia Schedule

Mark \ Type \ Profile \ Count \ Lengt

EE  |Eave Edging 4 89"
18X40

-

RF  |Roof Fascia 4 89"
18X115 H

RR1 |Roof 2 137
reinforcement 13/16'
18X90 H

RR2 |Roof 2 137
reinforcement 13/16
38x38 ]



Anthonyh
Rectangle


Extras

[ ]
, | Door Schedule
Model \ Type \Width \ Height \Count
3 BDDsgR |Basic double |56 721/4" |1
, . | door 5 right |1/8"
DCB6 |Door -- -- 2
crossbar 6
| |
Fasteners/Extras i Type ‘ Count ‘Lenght‘
Name | Type Count Windboard |4 86 5/8"
18X40
Hitblock |1113/16"-15 3/4"
Bolts  |M5/16" x 23/8" |12 J
Screws |3/16"x23/4" |15
nails 1/16" x19/16" |30
Screws (1/4" x51/2" 35
Screws (3/16"x19/16" |60
Screws |3/16" x 2" 510 Q

190422

Window Schedule

Model \ Type \ Width \ Height \Cou

CW1R |Basic 301/8" 39" 1
window 1

U L right

CWiL |Basic 301/8" |39" 1
window 1
left

WCB6 |Window - - 2
crossbar 6

Q ‘ Family ‘ Count ‘

\Romb \2 \



Anthonyh
Rectangle


List of all items 1
Impregnated foundation beams Floor Schedule
I\/\ark\ Type \ Profile \Count\ Length I\/\ark\ Type \ Profile \Count \ Length
IFB IFB 6 149 FB FB 18x110 35 107
40X70 3/16" 7/8"
=
BB1 BB 2 3800
20X40 D
BB2> |BB 2 2800
20X40
Roof Fascia Schedule
I\/\ark\ Type \ Profile \Count\Length I\/\ark\ Type \ Profile \Count\Length
RFR |Ridge 1 137 EE Eave Edging 4 89"
40X120 13/16" 18X40
=
RFB |Beam - 4 137 RF  |Roof Fascia 4 89"
40X120 13/16" 18X115 H
RB [18x110 66 873/8"| IRR1 | Roof > 137
reinforcement 13/16"
= = 18)(90 H
RR2 |Roof 2 137
reinforcement 13/16"
38x38 ]



Anthonyh
Rectangle


List of all items 2

Wall1 Wall 2
Cut Cut

Mark | Profile | Count| Length Mark | Profile |Count| Length
1BL1  |28x57 |2 50 3/8" 2BL1  [28x114 1 1571/2"
1LG1 |28x114 |18 71/2" 2LG"1 [28x114 |1 331/8"
1LG2  |28x114 |18 12 5/8" 2LG2 [28x114 |1 661/4"
1LG 3 * |28x114 |1 331/8" 2LG*3 [28x114 1 971/2"
1LG 4 * [28x114 |1 661/4" 2LG*4 [28x114 1 132 9/16"
1LGs5  |28x114 |14 50 3/8" 2LG*g [28x114 1 1571/2"
1LG 6 * |28x114 |1 971/2" 2lG 6 |28x114 |16 1571/2"
1LG 7 * |28x114 |1 132 9/16"
1LG 8 * [28x114 |1 1571/2" *Gable-delivered premounted

Wall A Wall B

Cut Cut

Mark | Profile | Count| Length Mark | Profile | Count| Length
ALG1 |28x114 |15 1181/8" BLG1 |28x114 |15 1181/8"
ALG 2 [28x114 |1 126" BLG 2 |28x114 |1 126"
ATL1 |28x120 |1 137 13/16" BTL1 |28x120 |1 13713/16"

Log Profiles

Profile \ Profile
28Xx57
28x114

28X120



Anthonyh
Rectangle


